O @) When joining parts 2,3, 7 and 8
you need to overlap their first
1 1 a stitching hole with the second
ones in these rows. The first hole
O O just locks the end of the parts in place.
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Part 7 underlaps here
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When joining parts 2,3, 7 and 8
you need to overlap their first

O
stitching hole with the second
ones in these rows. The first hole a
\ O

just locks the end of the parts in place.

\ (VD

Part 13 underlaps here The inner pocket should
join this part starting
with this hole ®

> O |
® |
° |
@ I
° |
) |
® |
® |
® |
® |
® |
® !
=

® 5
(I11) 0| —==5,
— |
Part 8 underlaps here X\ : =
= |
of w=— |
® =
o ="
o=
= |
(I11) - =
= |
/ Part 9 underlaps here o ® o—;:j :
® g NI
&9ea$e$eeee@®eeee@e$$e@$$®$e © :




This is an interior pocket and it aligns
with the holes on part 1 or 6. These
are also stitched together during the assembly
of the front and back of the bags so you will be
stitching through 3 sheets of leather during
this operation.
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with the holes on part 1 or 6. These
are also stitched together during the assembly
this operation.
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